

Powtórka działania na potęgach i pierwiastkach

Wpisz wynik w okienka

$$(2^2 \cdot 2^4)^2 : 2^{12}$$

$$10^5 : 10^5$$

$$(\sqrt{2})^2 \cdot 2^3$$

$$4^3 \cdot 2,5^3$$

$$-\sqrt[3]{-27}$$

$$\sqrt{36} + \sqrt[3]{8}$$

$$(10^4 : 10^3)^8$$

$$2^3 \cdot 2^5$$

$$(2^3)^4 : 2^7$$

$$(\sqrt{25} + \sqrt{4})^2$$

$$(\sqrt[3]{10})^3$$

$$((-2)^3)^4$$

$$5^6 \cdot 4^6$$

$$(2^3)^6$$

$$\sqrt{49}$$

$$-\sqrt{64}$$

$$\sqrt{121}$$

$$(\sqrt{2})^2$$

$$2^9 : 2^3$$

$$(10^6 : 10^5)^2 \cdot 10^4$$

$$(3^5/3^2) =$$

$$4^7 \cdot 3^7 =$$

$$3^4 \cdot 3^6 =$$

$$(12^7/4^7)$$

$$(3^5)^3 =$$

$$3^8 : 3^3 =$$